lin[sensitivity] =-0,35L,-u - ]* Ml lin[saturation] =-0,35l)-u- . ]?
logLo = —0,35[1)~Us7q)2 = -0,35[,~us:]2 W logLo = —0,35[)~Us7q2 = —0,35[)~Us.:]?
logLa=logLo +0,00 =log  -0,26 logLa=logLo +0,00 =log -0,26
[Lo, Oa = logM+0,44 [Lo/Lo, O-/Lo, /L =llod M +0,44
u)=(A\-550)/50 saturation L
0 adaptaton [ 2 ~ | adaptation
O&M: 620
ts=0.0

00=0.82 0a=0.45
L0=045 Lg=0.45
M0=0.16 Ma=0.45

495Ec  565Ec

lin[sensitivity] lin[saturation]
logLo = —0,35i\—Us7d? logLo = —0,350\—Us7d?
logLa=logLo +0,00 logLa=logLo +0,00
[Lo, Oz Mg =log b [Lo/Lo, ©-/Lo, MWLq] (

Ma & Oz u=(A-550)/50 Ma La Oa saturation L
10 KX adaptation 2 _adaptatlon
4 ( O&M: 570 J O&M 570

ts=0.0

4 570:
0'5 00=0.82 0g=1.0
Lp=10 Lg=1.0
Mg=0.82 Ma=1.0

H \49Ec ““Bo5EC 1 H 495Ec  565EC
600Ad/nm 700Ac 400 600Ag/nm 700xc 400




